Number and Algebra — Number and place value

Fum wiith

One-to-12 multiplication fact table

A factor is a number
that divides into
a larger number

without leaving a

remainder.

10 |12 | 14 | 16 | 18 | 20 | 22 | 24

15 | 18 | 21 | 24 | 27 | 30 | 33 | 36

4 | 4 8 |12 116 | 20 | 24 | 28 | 32 | 36 | 40 | 44 | 48

5|5 |10 |15 |20 | 25 | 30 | 35 | 40 | 45 | 50 | 55 | 60

6 | 6 12|18 | 24 | 30 | 36 | 42 | 48 | 54 | 60 | 66 | 72

5
A

7 | 14| 21|28 |35 42|49 | 56| 63| 70| 77 | 84 e

8 16 | 24 | 32 | 40 | 48 ([ 56 (| 64 | 72 | 80 | 88 | 96

9 |18 | 27 | 36| 45|54 | 63| 72| 81| 90 | 99 | 108

10 | 20 ( 30 | 40 | 50 | 60 | 70 | 80 | 90 | 100 | 110 | 120

1M |22 |33 |44 |55 | 66 | 77 | 88 | 99 | 110 | 121|132

12 | 24 | 36 | 48 | 60 | 72 | 84 | 96 | 108 | 120 | 132 | 144

The arrows show two factors of 28.They are 4 and 7 (or 7 and 4).

"I Two factors of 56 are: jiapiactonsiof 81 are 9and............
(a) 8and 7 (or7and 8) (@ M
(b) 5and 6 (or 6 and 5) (b) 8
(c) 12 and 3 (or 3 and 12) (c) 9

Two factors of 72 are: n Two factors of 42 are 7 and ............
(a) 7and 2 (or2and?7) (a) 6
(b) 9 and 8 (or 8 and 9) (b) 5

(¢) 3and 9 (or9and3) (c) 12
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Solve the problems.
B3 Which statement is true?

(a) Two factors of 132 are 11 and
12.

Bob is a carpenter who is
making stools for a client.
If one stool has four legs,
how many stools will Bob
be making if he needs to
make forty-eight legs?

(b) Two factors of 132 are 10 and
13.

(c) Two factors of 132 are 8 and 9.

Each week, Tim receives
twelve dollars pocket
money for doing jobs
around the house. He has
saved one hundred and
forty-four dollars towards a
new computer game. How
many weeks has he taken
to save this amount of
money?

Two factors of 99 are 9 and ............

Two factors of 63 are 7 and ............

Look at the sequence below.
24, 27 30, 33, 35

E One number does not belong
because it does not continue the
sequence and does not have 3 as
one factor. Which one is it? Tasmyn is helping her

aunt fold serviettes at her

(a) 24

cafe. If each table needs
(b) 30 eight serviettes, how many
(c) 35 serviettes in total will she

need to fold for seven

] Which number in the sequence has tables?

9 as one factor?

(a) 27

(b) 24 _
e Did you know that you only need
(c) 33 to know half of the facts in the one-
. . to-12 multiplication fact table to
Which number in the sequence has

know them all? This is because, for

10 as one factor? .
0 example, 3 x 4 is the same as 4 x 3,

(a) 24 so you only need to know one of the
(b) 30 pair of factors.
(c) 35 e Write your own one-to-12
multiplication chart. Look at all the
A factor is a number that divides pairs of factors like the one above.
into a larger number without Cross out one of each pair in the
leEviliiE) & e bottom half of the chart. When you

have crossed out one of each pair,
you will have half of the factors left to
learn.
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